
1

�
6+3 = 3+6 =

�

feet long

81 Eighty-one

10+10+10+10+10+10+10+10+1

tens ones 81
eighty-one

� How many cents?
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2

0 1 2 3 4 5 6 7 8 9 10 11 12

Number of items

� Of which item does Sam have 5?

Of which items does Sam
have the same amount?

Does Sam have more
pencils or more crayons?

pencils erasers scissors crayons glue

� How many ? How many ?

How many ? How many items in all?

pencils crayonserasers and pencils scissors and glue

Items In Sam’s School Box
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3

�

6+3 = 9 – 7 = 4+4 =

8 – 2 =

9 – 2 = 2+7 = 8 – 4 =

5+3 =

9 – 9 = 8+1 = 9 – 0 =

8 – 3 =

3+3=

� Circle of the group.  Write the answer.1
2

	
9

3      6
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4

7
– 4

3
+6

8
– 6

7
+2

9
– 8

3
+5

8
– 5

1
+8

==




�

9–9=0

9–0=9

62 64 65 67 68 70 72

4

12 1
2
3

567
8
9
10
11



5

= tens ones+

9 – 6 = 9 – 3 =

�

miles

82 Eighty-two

10 + 10 + 10 + 10 + 10 + 10 + 10 + 10 + 1 + 1 =

�

� Use your ruler.  How wide is the window? feet

� How many cents?
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6

�
4+3 = 9 – 3 = 2+7 = 9 – 7 =

8 – 6 = 5+3 = 8 – 3 = 3+6 =

� P

P

29,  92,  26

	 Order the numbers.

246,  186,  211

=

�

0 20 30

4

12 1
2
3

567
8
9
10
11
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7

9 – 6 = 8 – 4 = 8+1 = 9 – 8 =

�
8

– 5
3

+5
9

– 1
6

+3
8

– 2
1

+8
9

– 2
7

+2




8
1+ –

9
6– –

7
2+ +

1+2+5=

4+1+2=

2+4+2=
1+8=9

8+1=9



8

� q

q

�

leaves

83 Eighty-three

� Draw a line.  

=

0 10 40 70

10 20 30 40 50 60 70 80
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9

�
3+4 = 9 – 3 = 2+7 =

8 – 5 =

7 – 3 = 8 – 6 = 5+3 =

8 – 3 =

�

4+4=

� Circle of the group.  Write the answer.1
2
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10

8 – 4 = 3+5 =

9 – 8 = 7+2 =

	

9
– 2

4
+4

8
– 2

9
– 7

6
+3

9
– 1

4

6
+

5

3
– 1

5
–

� Write the missing numbers.

8–6=2

8–2=6

9
– 6

3
+6




4

12 1
2
3

567
8
9
10
11


